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1 He & et 37 36 73
2 FE = fnfE™ 38 38 76
3R ffi— AREEH 39 38 77
A% 2 FEH 40 39 79
5 73 EE am 39 40 79
6 Ht JE— eti] 41 39 80
7188 = EiEH 41 39 80
8 BEf X HrFhm 40 40 80
9HH R BT 43 38 81
10 #5K HAE b 42 39 81
nes = e 42 39 81
12K TR Jrut 41 40 81
13 A0 RE i krFm 4 4 82
14 =R 1E1E /N =] 40 42 82
15 50 EiE krFh 43 40 83
16 & EX HF™ 42 M 83
17 HE &R FNdam™ 41 42 83
18 K¥n #F fMEm™h 40 43 83
19 FE —= ARm 39 44 83
20 #KJ/ IEXR etii] 44 40 84
21 AH KIE et 42 42 84
22 /i BES il 42 42 84
238K T BHFH 41 43 84
24 /hE EXB N\FHKH 39 45 84
25 $T1E IEHH PNl 38 46 84
26 {FEE 1EF AR 42 43 85
271 EFH ER et 45 42 87
28 k¥ E{H FEH 44 43 87
29 2R Fh tntE T 44 43 87
30 ATE E& FEM 40 47 87
31 T RS izl 45 43 88
32 HIE 1EE INFHKH 44 44 88
VHhE FZ fasE™ 43 45 88
4 =7 WE £ L ] 44 45 89
35 B Flx £ G i] 43 46 89
36 FH & mlR™ 43 46 89
37 /hNE & BEHH 42 47 89
38 EkE EE etii] 48 43 91
95H Tt izl 45 46 91
40 A BHME XKET 44 47 91
M =ZE RB INFHR™ 46 46 92
42 lLO $FHE™ 46 46 92
43 1IFR £X EBmH 43 49 92
a4 s £ H®FH 47 46 93
45 /M1 FNE FEM 45 50 95
46 £k H A 43 52 95
47 KIg #Z ARM 49 47 96
48 KE IE1T Jrum™ 52 47 99
49 HIF AE MR 51 49 100
50 &R =7 FNA&AR 54 48 102
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